SOCIOLOGY

S1 No Answer Total Score
Score
1 C W Mills 1 1
2 Fertility rate 1 1
3 Ageing of population 1 1
4 1935 1 1
5 Patriarchal family 1 1
6 Adam smith 1 1
7 Banjara Tribe 1 1
8 Tarabai Shinde 1 1
9 Kakka kalelkar 1 1
10 1850 1 1
11 critically interrogate ourselves by looking ourselves through 2 2
others view.
12 Sex ratio is defined as the number of females per 1000 males in |2 2
a given population.
13 The process by which features of dominant caste is imitated |2 2
by so called lower caste
14  |Land loads whose property is at village but they resides in 2 2
urban centre is called absentee land lord.
15 Is the process by which things that were earlier not traded in the |2 2
market becomes commodity.
16 Unemployment Anxiety
. 1*4 4
Alcoholism Stress
17 By birth, Endogamy, Occupational group, Segmental division |1*4 4
( Any Four features)
18 Consumption is the purchase of goods and services for use by |2 4
households
A status symbol is generally an object meant to signify its 2
owners' high social and economic standing.
19 Social exclusion is the process in which individuals are denied |2 4
full access to various rights, opportunities and resources that are
normally available to members of a different groups.
Social inequality is the condition of unequal access to the 2
social, cultural, and economic capitals of the society.
20 Map which used to know the pace of an individual in respect to |25
others in the society.
You are seventeen years old so you belongs to young people. 5
(Any other Suitable example and explanation). 2V5




21 Difference in Population size, density, ife style, Urbanisation,
poor people can survive with low income Or any other points
and explanation.
22 A B C
Ayyankali Sadhu jana Dalit education 1
paripalana Sangam
Jotirao Govindarao |SatyashodhakSamaj | Maharastra
Phule 1
E V Ramaswami Self Respect Tamil nadu 1
Naiker Movement
Sree narayana Guru |S N D P Kerala 1
Karnataka Vokkaligas Dominant caste 1
23 Liberalization is the process or means of the elimination of 2Y5
control of the state over economic activities. It provides a
greater autonomy to the business enterprises in decision-making
and eliminates government interference (Or Any Definition) 2%
24 | Advantage: 1 Makes Simple (Explanation) 3
2. No fear (Explanation)or Any other
Dis-advantagel. Subjectivity (Explanation)
2. partial or Incorrect (Explanation) Or Any other |3
25 India has very young population. Explain. 3
Demographic dividend. Explanation 3
26 |Emergence of new Market, - linked with world-Source of
Resources- Agricultural product- Consumer- Emergence of
Some market communities 6
Eg: Marwaris Explanation
27 1. Soial stratification is characteristics of a society. 1
2.Social stratification persists over generations 1
3. supported by pattern of beliefs 1
(explanation) 3
28 Malthusian theory 4
Theory of transition 4
29 Permanent traits 5
Acquired Traits 3
30 Meaning of The term untouchability 2
Three dimensions of Untouchability 3*2=6






